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Note: This questlon paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B

consists-of 5 Units--Answer any one- full- questlon from eacn unit. Each quccﬂ on camcs
10 malks and may l ave a b as sub queonns ;

PART - A

(25 Marks)

[2]

LlSt ou the app11cat10ns of 555 tlmer ' P it §
Why the Reset pin of IC 555 is normally connected to Vcc" [3]

Give the principal of weighted resistor type DAC. 2]
Define the following terms as related to DAC:
i) Linearity ii) Resolution [3
2) What is the purpose of prlorlty encoders? [2
[2]
5]

PART -B

(50 Marks)

Explain-significance of virtual ground in-an op-amp: " g .
An-]JC.op-amp 741-used.as an 1nvelt1ng amphﬁer w1th a galn of 100 hc voltage oam
'S frequency characteristics id flat'up to 12KHz. Find the maximunt peal\ to peak input =
signal that can be feed without causing any distortion to the output. [5+5]

OR
3.a) Explam effect of bias current on output voltage.
b)  Design a practical integrator circuit with a DC gain of 10, to integrate a square wave

10KHz..
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“4.a) Draw the schematic diagram of.monostable multivibrator using- IC 555 t
explain its operation.
b) How to generate a sawtooth wave form? Explain the working of such a circuit with neat

circuit diagram. [5+5]

OR

. 5.a) For all pass ﬁltcrs the va
: 1"‘ KHZ calcx11aﬁe‘=tnc”phasc ShrifE ,
llcr than ‘the lock in angeﬂ Explam




_6.2)  Draw the circuit of a Weighted Resistor DAC and obtain expression for n-bits.
operation of Successive approximation type ADC.

Draw the typical dual slope converter and explain.
The logic levels used in an 8-bit R-2R ladder type DAC are logic ‘1'= +5V and
logic*0°=0V. Find the output voltage for an input of 10110111. [5+5]

Implement the following Boolean expression using 74x151 IC

F(Z) :AB+BC+AC e T
Explain.in detail about-parallel binary adder with néat diagram. " #5]
hia? B " OR* M ! U o 1
Design a priority encoder.

Design full subtractor using gates. [5+5]

10.a) Draw the internal structure of synchronous SRAM and explain the operation.
Implement the following Boolean function using ROM:.......
EiAn, Ag) =% m(1,2) and Fa(A1,A) =Y, m( 0,1,3% |
.. OR- R
Explain the internal structure of a 128*1 ROM using two dimensional decoding.

Briefly explain about Ring counter with block diagram. [5+5]
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